DARENG L] L] L

Ll e eI INSTALLATION

CREFLECTIVE SMOKE SADDLE SHIELDS 1188)

CUSTOMER SERVICE

FITS: '97-'07 TOURING MODELS (DRESSERS, ROAD KINGS, ROAD GLIDE, STREET GLIDE)

PARTS INCLUDED INSTALLATION QUESTIONS
1 Right Shield
1 Left Shield
1 Hardware Kit, including: LIMITED WARRANTY

2 10-32 x 3/4 Button Socket Cap Screw (BSCS)
2 #10 Flat Washer
2 10-32 Well Nut

1 Alcohol Cleaning Pad

1 Installation Instructions

Please read and understand entire instructions before starting installation.
THANK YOU FOR CHOOSING KURYAKYN!

STRICTLY OBSERVE THE FOLLOWING GUIDELINES IN ORDER TO USE THE
PRODUCT PROPERLY AND AVOID POTENTIALLY DANGEROUS ACCIDENTS.

IN ORDER TO PROTECT YOU AND OTHERS FROM POSSIBLE INJURY AND/
OR PROPERTY DAMAGE OR LOSS, PLEASE PAY CLOSE ATTENTION TO ALL
INSTRUCTIONS, WARNINGS, CAUTIONS AND ATTENTION NOTES REGARDING
THE USE AND CARE OF THIS PRODUCT.

WARNING! THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE
CONTENTS DESCRIBED HEREIN CAN RESULT IN POTENTIAL DEATH OR
SERIOUS INJURY.

CAUTION!  This indication alerts you to the fact that ignoring the contents described herein
can result in potential injury or material damage.

ATTENTION! This indication alerts you to the fact that ignoring the contents described herein
may negatively affect product performance and functionality.

TOOLS SUGGESTED ABOUT OUR CATALOG

Set of hex wrenches, soapy water and a clean rag

ATTENTIONI! It is the installer's responsibility to ensure all fasteners (including pre-assembled)
are tightened before operation of the motorcycle. Kiiryakyn WILL NOT
warranty components lost due to improper installation. Periodic maintenance
may be required.

PROCEDURE
STEP 1 Park the motorcycle on a hard, level surface; turn off the ignition and allow the
engine to cool.

-cont.-

1188-11HD-1007




WARNING! YOU WILL BE WORKING AROUND THE ENGINE AND EXHAUST SYSTEM DURING

L3
INSTALLATION. ENSURE THAT THE ENGINE AND EXHAUST SYSTEM HAVE FULLY Huryﬂkvn
COOLED TO PREVENT INJURY.

STEP 2 Remove the seat, both of the saddlebags and the side
covers; set them aside on a soft, sturdy surface to prevent damage.

; VIEWED

STEP 3 Locate the.two holes in the frame forward of the battery FROM ABOVE

compartment shown in FIG.1.

FRONT OF

NOTE Some models require elevating the wiring looms to
allow access to the holes shown in FIG.1.

STEP A Remove the fastener securing the rear of
the fuel tank to the frame and the two fasteners securing
the front of the fuel tank.

STEP B Carefully lift the back end of the fuel tank
up; support the rear end of the tank with a small block of
wood.

STEP C Carefully lift the wire looms up to access

the holes shown in FIG.1.

STEP 4 Insert the two included well nuts into the two holes shown
in FIGA.

STEP 5 Remove any grease or debris from the installation area (See FIG.1 and PIC.1) with soapy water
and a clean rag; allow the area to dry completely.

ATTENTION! Thoroughly clean the area (See Fig. 1 and Pic. 1) of grease, oil, dirt, or other
debris to ensure proper adhesion. Kuryakyn WILL NOT warranty any parts lost

due to improper installation.

ATTENTION! The adhesive may not correctly bond if applied at temperatures less than 50°F.
Do not attempt this installation in temperatures less than 50°F.

STEP 6 Clean the area (See FIG.1 and PIC.1) with the included alcohol cleaning pad; allow
the area to dry completely.

STEP 7 Rub the backing on the adhesive strips on the underside of the Saddle Shields to
activate the adhesive before installing.

STEP 8 Remove the adhesive backing from the adhesive strips on one of the Saddle Shields.

STEP 9 Align the hole in the Saddle Shield and the well nut and press into place (See PIC.2)
for 1 minute to ensure proper adhesion. Full bond strength will occur within 24 hours.

STEP 10 Repeat STEP 8 and STEP 9 for the other side.

STEP 11 Place an included flat washer over an included 10-32 x 3/4 BSCS; insert it through
the hole in the Saddle Shield and into the well nut in the frame.

STEP 12 Repeat STEP 11 for the other side.

-cont.-

C SADDLE SHIELDS  INSTALLATION )




STEP 13 Tighten the screws until the well nuts expand enough to secure the fronts of the Saddle e
Shields. Kur yﬂkvﬂ

STEP 14 Reinstall the side covers, saddlebags and seat.
STEP 15 Ensure proper clearance and operation before riding the motorcycle.

CAUTION!  Clean only with warm water and a mild, non-abrasive soap. Some cleaning products
contain harsh chemicals that can severely damage product and void warranty.

Ride On’

PAGE

3

C SADDLE SHIELDS  INSTALLATION )




